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              Year 11    General  Mathematics Further Exam 2   

 SEMESTER 1
2005
                                               Reading Time: 10 mins                         

                                               Writing Time:  120 mins                     

Directions To Students
Section 1:  Multiple Choice. Use the answer sheet attached to booklet 2 to show your selected answers for the 20 multiple choice questions.

Section 2:  Analysis. You should attempt all the questions in this examination and record your answers in the spaces provided in this answer booklet.

Section 3: Use the graph paper supplied booklet 3 for any questions requiring you to draw graphs.
A graphics calculator MAY BE USED.
Students may bring four pages (two A4 sheets) of pre-written notes into this examination.

The marks for each question are shown on the paper.
This examination is worth:



Multiple Choice
20 x 1 = 20 marks



Analysis

20+20+30+20=90 marks



Total


110 marks
SECTION 1:  MULTIPLE CHOICE  Use the answer grid provided to show your answers
APPLICATIONS OF ARITHMETIC

Question 1  If 
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 then x equals:

A.  -13
B.  5
C.  3
D.  27
E.  None of these

Question 2   Using the formula  
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  when x = 9.6, y = 1.5 and 
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 as the decimal given by the calculator, then m correct to 3 significant figures is:

A.  61.159
B.  19.5
C.  19.467
D.  19.46773
E.  None of these

Question 3  Jenna received a pay rise of 15%. She used to be paid $330 per week. Her new weekly wage is:

A.  $49.50
B.  $379.50
C.  $345.00
D.  $495.00
E.  None of these

Question 4  In the proportion 18:10 = 45 : n, the value of n is:

A.  81
B.  4
C.  25
D.  27
E.  None of these

Question 5   The price of a Mathematics textbook increased from $36.95 to $45, the increase in the price as a percentage of the original cost is:

A.  8.05%
B.  17.89%
C.  21.79%
D.  82.11%
E  None of these
LINEAR RELATIONS

Question 6  The solution to 4x – 3 = 11 is:

A.  2
B.  
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C.  60
D.  
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E.  None of these

Question 7  When m = 3(2x + y) is transposed to make y the subject, the equation is: 

A.   y = 3(2x +  m)


B.  y = -2x +  m

C.  
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D.  
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E.  
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Question 8  The sum of the solutions to the pair of simultaneous equations   and y = 3x - 9 and 2x +  y = 11  is: 

A.  3
B.  4
C.  7
D.  12
E.  (4, 3)

Question 9  If   2(3x +1) = 2x + 18 then x will equal:

A.  
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B.  
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C.  2
D.  4
E.  
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Question  10   When two-thirds of a certain number is subtracted from five the result is nine, the number is:

A.  
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B.  21
C.  -21
D.  6
E.  –6

UNIVARIATE DATA

For questions 11, 12 and 13 use the stemplot given below.
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Key:  3|5 represents 35kg

Question 11  The number of values under 43kg is:

A.  1
B.  2
C.  3
D.  4
E.  5

Question 12  The median of the stemplot is:

A.  3
B.  4
C.  40
D.  43
E.  46

Question 13    The interquartile range IQR is:

A.  1
B.  2
C.   10
D.  11
E.  12

Question 14  The distribution of examination scores in a VCE Mathematics exam studied by more than 10 000 students is bell shaped with a mean of 34 and a standard deviation  of 5. From this information, it can be concluded that the percentage of students with scores between 24 and 44 is closest to:

A.  2.5%
B.  5%
C.   16%
D.  68%
E.  95%

Question 15  For the data set given below:




x
2
3
4
5
6



frequency
3
4
7
8
2

The standard deviation is closest to:

A.  1.41
B.  1.58
C.   1.15
D.  1.17
E.  1.18

BIVARIATE DATA

Question 16  A researcher administers different amounts of fertilizer to a number of plots of potato crop. She then measures the total weight of the potatoes harvested from each plot. When graphing the data the researcher should plot:

A. weight of the harvest on the x – axis because it is the independent variable and the amount of fertilizer on the y – axis because it is the dependent variable

B. weight of the harvest on the y – axis because it is the independent variable and the amount of fertilizer on the x – axis because it is the dependent variable

C. weight of the harvest on the x – axis because it is the dependent variable and the amount of fertilizer on the y – axis because it is the independent variable

D. weight of the harvest on the y – axis because it is the dependent variable and the amount of fertilizer on the x – axis because it is the independent variable

E. the variables on either axis, as it makes no difference

Question 17  The  correlation coefficient for the scatterplot below is best estimated to be:


A.  -1

B. –0.62

C. +1
D. 0.62
E. -0.02
Use the table below for questions 18 and 19
	x
	2
	4
	18
	7
	9
	12
	2
	7
	11
	10
	16

	y
	103
	75
	20
	66
	70
	50
	95
	40
	27
	42
	30


Question 18  Using the graphics calculator, the y – intercept for the least squares regression line for the given data set above is closest to:

A.  –4.65
B.  –4.66
C.   97.68
D.  97.69
E.  103.5

Question 19  Using the graphics calculator, the gradient for the 3-median regression line for the given data set above is closest to:

A.  –4.65
B.  –4.66
C.   –5.54
D.  97.69
E.  10.35
Question 20  For each of the following would it NOT be appropriate to construct a scatter plot:

A. The gold medal winning distances, in metres, for the men’s long jump for the Olympic games for the years 1896 to 1996

B. The shoe sizes and weights (kg) of twenty adult males

C. The response to the survey question “Are you in favour of capital punishment?”

D. The birth lengths (cm) and birth weights (kg) of thirty new born babies

E. None of the above
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